= AH O
N = 0 &8 AF S & Al A
A EXNZE Bt
M EX2CC EE2HELXNSINL /AL A)
SRl DWEAO EXUY 2H (e
- _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & oK @;OH Hns
EX 2l 2,298,360 6,037,280 N3,738,920
= 589,400
o= 1,708,960
EXNZ2IO ESH2Z2ELUX SN /RSALTAl) 1,068,400 3,997,600 A2,929,200
= 589,400
== 479,000
DW= EXHE 2H 11,000 11,000 0
EXZE L HHEM 11,000 11,000 0
201 Lt AH| 3,000 5,000 2,000
01 AF222|H] 3,000 5,000 A2,000
OFMIIY EXQAXNEN 2Y 3,000
202 O4Hl 8,000 6,000 2,000
01 =20 8,000 6,000 2,000
ORSAHHEAN =& 8,000
X EXNE 29 174,000 221,000 47,000
NEBHHU ALY 60,000 120,000 260,000
308 XX HHSOIA 60,000 120,000 260,000
01 AXSHBAEES 60,000 120,000 260,000
OF04dds S M= 3,750
OJI=EHEX L =2 56,250
PNESE== 2~ I/ ol 114,000 101,000 13,000
201 LEt29H| 26,000 43,000 A 17,000
01 AF222|H] 26,000 43,000 A 17,000
OXNHE - M=A - XCIEBRAKE 29 6,000
Odlet DISE EX Y HOHE M TAF 20,000
202 OiHl 8,000 8,000 0
01 2o Y| 8,000 8,000 0
OXNXE=2Z HUHA 5,000
OEXZ2HREA 3,000
401 Al&HI L2004 80,000 50,000 30,000
01 Al&H| 80,000 50,000 30,000
O2dIId B&ae] 80,000
EX - X2l B3 883,400 3,765,600 N2,882,200
= 589,400
== 294,000
T=2J|8t XIotAlZ2 MAtsH(=1) 500,000 2,485,000 1,985,000
= 500,000
403 RHRISHHMEX=20IH 500,000 2,485,000 1,985,000
= 500,000




SA: EX 2

o EX 220 SEHFEUNANL/NALZA)
ol §X - K2l B2 (649l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ofl At ot Hws2
01 RXISAX =S E 500,000 2,485,000 ~1,985,000
OSZIIPNGIALES Hatst 75 - SB2Y 500,000
= 500,000
EX - X2l YA 154,000 397,000 243,000
201 Y2 Y| 117,000 88,000 29,000
01 ALl 15,000 15,000 0
OMELROAY & 15,000
02 ZZ2H| 92,000 73,000 19,000
ONEMATH 2 86,700
OENZHILHE ANL22 5,300
03 A2 HI 10,000 0 10,000
OURE BAF=O| & I 10,000
202 01l 9,000 9,000 0
01 =UHoit] 9,000 9,000 0
OMEAAY 280l 5,000
O6IS ¥ EXNHEs HXEY 4,000
308 X+XIEHHIS O & 28,000 0 28,000
01 MHXSHHZHSES 28,000 0 28,000
OMZAAEY ALE ST 28,000
MEAROAY E2(21) 200,000 0 200,000
= 60,000
= 140,000
201 Yereg| 200,000 0 200,000
= 60,000
= 140,000
01 AL/t 200,000 0 200,000
OMFARUAY E2 200,000
=2 60,000
= 140,000
MELAY AIZZ2 RX2l(21D) 29,400 0 29,400
= 29,400
308 XXIEHH SO 29,400 0 29,400
= 29,400
01 MXSHHZHSEZ 29,400 0 29,400
OMZEAAY A&ES SR 2L 29,400
= 29,400
SEHO THAZR (LBIBTHY/LBHT) 1,191,600 2,006,320 £814,720
= IR 22 1,191,600 2,006,320 ~814,720
2. ZeMae BN B 991,600 756,600 235,000
201 Y2 Y| 237,000 140,000 97,000
01 At 22l 237,000 140,000 97,000




SN EXZD
HE: SEHO AR (LPTIHT/ASHT)
SRl 2 - TR 22 (S5l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ

OZ|MA W=7 IH b 97,000
OAHHA) Y 30,000
OSRMA 2HIIL £42 40,000
OSSR MEHIZA SZ442 70,000

202 01t 16,600 16,600 0

01 =2Uloibl 16,600 16,600 0
02 - 2SN MHZEA Y H2XE 16,600

308 XHXISHH SO & 738,000 600,000 138,000

01 MXSHMBLBES 738,000 600,000 138,000
CEEY N EEIES 738,000

TR AL B 200,000 1,149,720 £949,720

401 Al&HIL 20| 200,000 1,149,720 £949,720

01 Al&t] 200,000 1,141,736 ~941,736
OUHMMAZS U DEXUXIZ 200,000

#™2 AR (EX 22D (OIEHIIEH 38,360 33,360 5,000

ol =2 38,360 33,360 5,000

Sh2 Jl2Ay) 38,360 33,360 5,000

201 LByl 24,720 24,720 0

01 At 2l 24,720 24,720 0
ORN2Y AR 24,720

202 01t 8,640 8,640 0

01 2Uioibl 8,640 8,640 0
ORN2Y 2O 8,640

405 THAHE S 5,000 0 5,000

01 RAUSEZH S| 5,000 0 5,000
= AN (1TH) 5,000




